



namn: _____

Datum: _____ Poäng: _____

$$\left(-\frac{1}{2}\right) + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{3} =$$

$$\left(-\frac{1}{3}\right) + \frac{3}{4} =$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{1}{6}\right)^3 + \frac{3}{5} =$$

$$\left(-\frac{3}{5}\right)^0 - \frac{1}{5} =$$

$$\left(\frac{3}{5}\right)^3 + \frac{3}{5} =$$

$$\left(-\frac{2}{5}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{2}{5} =$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right)^3 + \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right) - \frac{1}{5} =$$



namn: _____

Datum: _____ Poäng: _____

$$\left(-\frac{1}{2}\right) + \frac{1}{4} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(-\frac{1}{3}\right) + \frac{3}{4} = \frac{5}{12}$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{3} = \frac{128}{375}$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{3}{16}\right)$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{5}\right) = \frac{3}{10}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{4}\right) = 0$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{371}{500}\right)$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{6} = \frac{11}{48}$$

$$\left(-\frac{1}{6}\right)^3 + \frac{3}{5} = \frac{643}{1080}$$

$$\left(-\frac{3}{5}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(\frac{3}{5}\right)^3 + \frac{3}{5} = \frac{102}{125}$$

$$\left(-\frac{2}{5}\right)^3 - \frac{3}{5} = \left(-\frac{83}{125}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \frac{2}{5} = \frac{11}{40}$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{3}\right) = \frac{1}{15}$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{48}\right)$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{5} = \frac{29}{80}$$

$$\left(-\frac{1}{3}\right)^3 + \frac{3}{5} = \frac{76}{135}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{5}\right) = \frac{22}{135}$$

$$\left(\frac{3}{5}\right) - \frac{1}{5} = \frac{2}{5}$$